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€0s58 = c0s(26 + 30) = c0s26 cos36 —sin 26sin 30
c0s260 = 2c0s? 0 —1, sin 20 = 2sin #cosd
0536 = €050 €020 —sin @sin 20 = 2¢cos® & — cosd — 2sin? Hcosd
=2c0s° @ —cosf — 2(1— cos® ) cosd = 4cos’ 6 —3cosh
sin 30 =sin 6.c0s26 + cosdsin 20 = sin O(1 — 2sin? O) + 2sin O cos® &
=sin@ —2sin® 0 + 2sin O(1 —sin? B) =3sin @ — 4sin> 6

c0s50 = (2cos? 6 —1)(4cos® @ —3cosd) — 2(3sin? @ — 4sin* @) cosd
=8c0s® @ —10cos® @ + 3cosd — 2cosdsin® (3 — 4sin? 6)
=8c0s° 6 —10co0s’ @ + 3cosd — 2cosd(1— cos’® F)(4cos? 6 —1)
=8c0s° # —10co0s® @ + 3cosf + 2cosd(4cos* & —5cos? 0 +1)
=16c0s° @ — 20cos® @ + 5cosé
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cos50=f(cosd) =045 L, kZHHL LT 59:%(2“1) 9:1—7;(2“1)
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